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ViiM Virudhunagar District
Common First Mid Term Test - 2024

Standard 11
Time: 1.30 Hrs. MATHEMATICS Marye:

Part-1I
Choose the best answer: 10x1=10

" 1) Let A and B be subsets of the universal 5et N, the set of natural numsers
then A'U[(ANB)UB'] is
a)A b) A’ c)B d) N

2) Let R be the universal relation on a set X with more than one element. Then 2 s
a) not reflexie b) not symmetric
¢) transitive d) none of the above

3) The number of constant functions from a set containing m elements to 2 St
containing n-elements is

a)mn b) m cn dym+n
4) The function f:R—R is defined by f(x) = SinX+cosx is
a) an odd function b) n er an odd function nor an even function
c) an even function d) both odd function and even function
5) If - 2] >0, then x belongs to
X=- .
a) [2, «) b) (2, ) Q)(-=,2)  d)(-2,=)
6) The value of Iogﬁ 512 is _
a) 16 b) 18 c) 9 d) 12

7) If 8 and 2 are the roots of x?+ax+c = 0 and 3, 3 are the roots of x*+dx+b = 0
then the roots of the equation x*+ax+b = 0 are

a)1,2 b) -1, 1 )91 d) -1, 2
8) The number of roots of (x+3)*+(x+5)* = 16 is
a) 4 b) 2 c) 3 d) 0
9) If cos289+sin28° = K3, then cos17° is equal to
K3 _K3 K3 ‘ -3
a) 1= b) = t = -
) 12 )k 9% N7

10) If n < 20 < 3’25 , then Jz + Ji+ 2 Cos 4?6-

a) =2 cos0 b) -2 sino €) 2 cost d) 2 sing

Part - II

Answer ANY FOUR questions: 4x2=8

11) Let Aand B be two sets such that n(A) = 3 and n(B) = 2. 1f (x, 1), (v, 2), (2, 1)
are in AxB, find A and B, where x, v, z are distinct elements.
12) I {1 RoRls defined as f(x) = 2x?-1 find the preimages of 17, 4,
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13) Solve: 2|x+1|-6<7
14) Find the roots of the polynomial equation (x-1)3 (x+1)2 (x+5) = 0 and state
their multiplicity.
15) Find the value of tan 120°.
16) Convert 1500 into radian measure.

Part - III
Answer ANY FOUR questioné: 4x3=12
17) If Aand B are two sets so that n(B-A) = 2n(A-B) = 4n(A~B) and if n(AUB) = 14,
then find n(P(A)).
18) Graph the functions (i) y = sinx (ii) y = cosx.

X
19) Resolve into partial fractions: (X +3)(x - 4)

7+\/€

20) Simplify by rationalising the denom'lnator: 3.2

21) Prove that tan 3159 cot (-405° cot 495° tan (-585°) = 2.
e

. 3 9 T
A== sB=-" —
22) If s!n 5 and co 1’ O<A<—, 0<B< >

. Find the value of sin(A+B).

4

Part - IV

Answer ANY FOUR questions: 4x5=20
23) Ina survey of 5000 persons in a town. It was found that 45% of the persons
know language A, 25% know language B, 10% know language C, 5% know
languages A and B, 4% know languages B and C, and 4% know languages A
and C. If 3% of the persons know all the three languages. Find the number

of persons who knows only language A.
24) Iff, g : RHR are defined by f(x) = |x|+x and g(x) = |x|-X, find gof and fog.
25) If one root of K(x-1)% = 5x~7 is double the other root, show that K = 2 or -25.

16 25 81
26) Prove that log2 +16log— +1 —+7log— =1,
) 94+ 1610975 +12log5g + 7log g,
27) Show that tan75°+cot750° = 4,
28) If tang— 1-a tang th hat cos;cb—i(io—:i
5" Tia > en prove tha 1-acosp’
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Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com
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